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11m3 Integration Test  Oct 31, 2003

1. Evaluate;

i) zjx\/;dx ii) lj(zxz - 6)dx

2 .3 _ 2 + 2
iii) j—’i——i—ﬁ—idx iv) [3x3( - 1).dx
1 1

2. Find the following indefinite integrals:

i) J%.dx i) J'z—j(z.dx i) 1(4:51)2

3. Find the area enclosed by y =x* - 3x and the X axis.

4. Find the area enclosed by the curve y=x’-x , the X axis and the ordinates x = -1
and x =2,

5. Find the area enclosed by the curves y=x"+1, y = 4 - 2x and the X axis

6. Find the volume of the solid of revolution formed by rotating the region bounded
by the y= x*, y= 8 and the Y axis is rotated about:

a) theY axis
b) the X axis.

4
7. a) Evaluate J 2** dx using;
0

1) Simpsons Rule with 5 ordinates
it)  Trapezoidal Rule with 5 ordinates

b) If the answer correct to three decimal places is 4.869, determine the percentage
error using Simpsons Rule
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